

10mm + 2mm pad

CLASSIC NATURALS COLLECTION



BRUGES CHAUD1790

SPECIFICATIONS

Construction: 10 mm Water Resistant Core plus 2 mm Attached Pad

Dimension: 7.72" Wide x 47.76" Long

Overall Thickness: 12 mm (includes 2 mm IXPE pad)

Wear Surface: AC4 Rated

Texture: Embossed in Register

Edge Profile: 4-Sided Painted, Waxed Bevel

Installation: Angle / Drop & Tap

72-Hour Topical Water, Lifetime Residential,

15 Yr Commercial Wear, Fade, and Stain

Packaging: 15.371 sf/ctn, 65 ctn/plt, 999.1 sf/plt



BORDEAUX CHAUD1791



Wet and Steam moppable for a worry free maintenance







Seamless room transitions over large areas - up to 4000 sf







Next step in flooring designs







10mm + 2mm pad

HEARTHSIDE



ASHEVILLE CHAUD1240

12 mm (includes 2 mm IXPE pad)

SPECIFICATIONS

Thickness:

Construction: 10 mm Water Resistant Core plus 2 mm Attached Pad

Dimension: Hearthside - 6.57" Wide x 47.76" Long Vintage - 5.67" Wide x 47.76" Long

Wear Surface: AC4 Rated

Texture: Embossed in Register

Edge Profile: 4-Sided Painted, Waxed Bevel

Installation: Angle / Drop & Tap

72-Hour Topical Water,
Warranty: Lifetime Residential,

15 Yr Commercial Wear, Fade, and Stain

Packaging: Hearthside - 15.296 sf/ctn, 55 ctn/plt, 841.3 sf/plt Vintage - 13.186 sf/ctn, 66 ctn/plt, 870.27 sf/plt

VINTAGE



CHAUD1222



Wet and Steam moppable for a worry free maintenance







Seamless room transitions over large areas - up to 4000 sf





Next step in flooring designs







10mm + 2mm pad

MONTICELLO COLLECTION



LEGACY CHAUD2821

SPECIFICATIONS

Construction: 10 mm Water Resistant Core plus 2 mm Attached Pad

Dimension: 3.6", 5.7", 7.7" Wide x 47.76" Long

Overall

Thickness: 12 mm (includes 2 mm IXPE pad)

Wear Surface: AC4 Rated

Texture: Embossed in Register

Edge Profile: 4-Sided Painted, Waxed Bevel

Installation: Angle / Drop & Tap

72-Hour Topical Water, Lifetime Residential,

15 Yr Commercial Wear, Fade, and Stain

Packaging: 22.561 sf/ctn, 39 ctn/plt, 879.9 sf/plt



CACHE CHAUD2829



Wet and Steam moppable for a worry free maintenance

Pet-friendly - extra stain and scratch resistant





Seamless room transitions over large areas - up to 4000 sf



Perfect for every room of your home



Next step in flooring designs







10mm + 2mm pad

BOUTIQUE COLLECTION







CINCINNATI CHAUD1338



CHAUDB31



LIGHT MAPLE CHAUD678

SPECIFICATIONS

<u> </u>	
Construction:	10 mm Water Resistant Core plus 2 mm Attached Pad
Dimension:	5.67" Wide x 47.76" Long Burned Pine - 7.72" Wide x 47.76" Long Cincinnati - 6.57" Wide x 47.76" Long
Overall Thickness:	12 mm (includes 2 mm IXPE pad)
Wear Surface:	AC4 Rated
Texture:	Embossed in Register
Edge Profile:	4-Sided Painted, Waxed Bevel
Installation:	Angle / Drop & Tap
Warranty:	72-Hour Topical Water, Lifetime Residential, 15 Yr Commercial Wear, Fade, and Stain

13.186 sf/ctn, 66 ctn/plt, 999.1 sf/plt

Burned Pine - 15.371 sf/ctn, 65 ctn/plt, 999.1 sf/plt

Cincinnati - 15.296 sf/ctn, 55 ctn/plt, 841.28 sf/plt



Wet and Steam moppable for a worry free maintenance

Pet-friendly - extra stain and scratch resistant





Seamless room transitions over large areas - up to 4000 sf



Perfect for every room of your home



Next step in flooring designs

Pre-attached pad for extra comfort and sound absorption





Packaging:



10mm + 2mm pad

ELEGANCE COLLECTION



VAI FNCIA CH50101390002



FRENCH WHITE OAK CH50101776002



FDINBURGH CH50101780001



LYON CH50101785001



AURORA CH50101795001



GENOA CH50101810001

SPECIFICATIONS

10 mm Water Resistant Core **Construction:** plus 2 mm Attached Pad

Dimension: 7.72" Wide x 47.76" Long

Overall 12 mm (includes 2 mm IXPE pad) **Thickness:**

Wear Surface: AC4 Rated

Texture: Embossed in Register

Edge Profile: 4-Sided Painted, Waxed Bevel

Installation: Angle / Drop & Tap

72-Hour Topical Water, Lifetime Residential, **Warranty:**

15 Yr Commercial Wear, Fade, and Stain

Packaging: 15.371 sf/ctn, 65 ctn/plt, 999.1 sf/plt



Wet and Steam moppable for a worry free maintenance

Pet-friendly - extra stain and scratch resistant





Seamless room transitions over large areas - up to 4000 sf







Next step in flooring designs



